Efficiency vs P,

- 0.2 T T
2 : : :
L 0.18F -t o RREEEEEEEEE
> E : : :
S 0.16f--------meieeeeeeee [ AR
9] F : : :
[ | e e ARRECEREEEEE
0.12F---opereiereremeenes ------------ ------------
0.1
0.08]
0.06]
0.04
0.02

e

................................................

& v

1.0

Ratio

[y
TTTT] T T

o
©
a

=
o
iN

1 10 . Gedf’

=== DQM VOUUUI_RUUU00U00UT —Global—CMSSW_oTTg
—e— DQM_V0001_R000000001__Global _CMSSW_X_Y Z_ all7

—— DQM_V0001_R000000001_Global _CMSSW_hpt08
—— DOM_V0001_R000000001 _Global _CMSSW_dt08

= 0.1

g ¥ |
Z0.09F rrrrrrrrrrrn s e
S0 0ak :
0_,0.08:—------—-------? ------------------------------
o o .
T S R T
© E :
0.06F " Rl | N EERE R R R SRR EEREREREr AN &
oL o R TR e B S R o 1
o.0afb 413t SRR
0.03E |t - Hf- - 4|
E ; : i B0l
0.02F v - 11
E : : " ' 15
008 -5 -fh-4- M- -1 R
o L_be....l....!....!....l....l....
I r i i
o [ N
- i
0953 1 0 1 2 3

TP N

Efficiency vs ¢

TT
»
—
&
<

| o ]

o
o
=
N
4
X
X3
3 HP— v
L —— .
i
—

TP @



	Contents
	Page 1


